
Exploded diagram and spare parts list                                            (GF439)                                                                                                                                                                           Rev.2                                                                                                                                                                                                                           

1 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 



Exploded diagram and spare parts list                                            (GF439)                                                                        Rev.2                                                                                                                                                                                                                           

2 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 

Machine Explode  Code Description 

GF439 - Buffalo Chamber Vacuum Packing Machine  1  M6 Stainless Steel Screw 

GF439 - Buffalo Chamber Vacuum Packing Machine  2  Square Door Pull 

GF439 - Buffalo Chamber Vacuum Packing Machine  3  M6 Stainless Steel Nut 

GF439 - Buffalo Chamber Vacuum Packing Machine  4 AE931 Heat-Sealing Foam 

GF439 - Buffalo Chamber Vacuum Packing Machine  5 AG155 Sealing Bar Assembly 

GF439 - Buffalo Chamber Vacuum Packing Machine  6 

AJ155 

Clamp-Fixing Spring 

GF439 - Buffalo Chamber Vacuum Packing Machine  7 Clamp 

GF439 - Buffalo Chamber Vacuum Packing Machine  55 Clamp Cover 

GF439 - Buffalo Chamber Vacuum Packing Machine  8  Connector for Inlet Hole 

GF439 - Buffalo Chamber Vacuum Packing Machine  9  "L" Style Connector  

GF439 - Buffalo Chamber Vacuum Packing Machine  10  Up-Down Piston Assembly(Old version) 

GF439 - Buffalo Chamber Vacuum Packing Machine  10 AG277 Up-Down Piston Assembly( From 180354-UK) 

GF439 - Buffalo Chamber Vacuum Packing Machine  10 
AG870 

Up-Down Piston Assembly for GF439-02  
(From 5021437-UK) 

GF439 - Buffalo Chamber Vacuum Packing Machine  11  Tee Connector 

GF439 - Buffalo Chamber Vacuum Packing Machine  
12,13,14, 

15,17 AE935 

Water Inlet Valve+Outlet Valve+Copper 
Connector (Assembly) 

GF439 - Buffalo Chamber Vacuum Packing Machine  18,18P  Vac Pump Assembly 

GF439 - Buffalo Chamber Vacuum Packing Machine  19  Rubber Pad 

GF439 - Buffalo Chamber Vacuum Packing Machine  20 AF369 Motor PCB 

GF439 - Buffalo Chamber Vacuum Packing Machine  21  Clear Insulating Strip for PCB 

GF439 - Buffalo Chamber Vacuum Packing Machine  22  Bottom Board 

GF439 - Buffalo Chamber Vacuum Packing Machine  23  Ribbon Cable 

GF439 - Buffalo Chamber Vacuum Packing Machine  24  Rubber Foot 

GF439 - Buffalo Chamber Vacuum Packing Machine  25 AE932 Control Board Assembly 

GF439 - Buffalo Chamber Vacuum Packing Machine  26  Mounted Plate for Control Panel 

GF439 - Buffalo Chamber Vacuum Packing Machine  27  Pressure Gauge 

GF439 - Buffalo Chamber Vacuum Packing Machine  28  Film-Switch 

GF439 - Buffalo Chamber Vacuum Packing Machine  23,25-28 AF945 Complete Control Panel 

GF439 - Buffalo Chamber Vacuum Packing Machine  29  Machine Body 

GF439 - Buffalo Chamber Vacuum Packing Machine  30  Power Cord 

GF439 - Buffalo Chamber Vacuum Packing Machine  31  Power Socket 

GF439 - Buffalo Chamber Vacuum Packing Machine  32  Connecting Board 

GF439 - Buffalo Chamber Vacuum Packing Machine  33  Mounting Plate 

GF439 - Buffalo Chamber Vacuum Packing Machine  34  Cord Holder 

GF439 - Buffalo Chamber Vacuum Packing Machine  35 AE934 Main Valve  

GF439 - Buffalo Chamber Vacuum Packing Machine  36 
AF411 

Fixing Panel 

GF439 - Buffalo Chamber Vacuum Packing Machine  37 Micro Switch Assembly 

GF439 - Buffalo Chamber Vacuum Packing Machine  38  Left Tumbler Assembly 

GF439 - Buffalo Chamber Vacuum Packing Machine  39  Right Tumbler Assembly 

GF439 - Buffalo Chamber Vacuum Packing Machine  44  Clear Insulating Strip for Switch Power Board 

GF439 - Buffalo Chamber Vacuum Packing Machine  45 AE933 PCB 

GF439 - Buffalo Chamber Vacuum Packing Machine  47  Vacuum Chamber 

GF439 - Buffalo Chamber Vacuum Packing Machine  48 AE930 Sealing Ring 

GF439 - Buffalo Chamber Vacuum Packing Machine  49 AG556 Vacuum Lid (Old version) 

GF439 - Buffalo Chamber Vacuum Packing Machine  49  Vacuum Lid (From 5021437-UK) 

https://www.composantsdiffusion.com/fiche_article.php?lecode=GVD1544


Exploded diagram and spare parts list                                            (GF439)                                                                        Rev.2                                                                                                                                                                                                                           

3 | P a g e  
 Technical & Spares helpline 0845 111 0538 
spares@uropa-service.co.uk 

GF439 - Buffalo Chamber Vacuum Packing Machine  01,02,03,51,49 AG675 
Vacuum Lid Assembly for GF439-02 
 (From 5021437-UK) 

GF439 - Buffalo Chamber Vacuum Packing Machine  50  Pressing Plate 

GF439 - Buffalo Chamber Vacuum Packing Machine  51  Seal Ring for Square Door Pull 

GF439 - Buffalo Chamber Vacuum Packing Machine  52  Mounted Plate for Heat-Sealing Foam 

GF439 - Buffalo Chamber Vacuum Packing Machine  57  M12 Nuts 

GF439 - Buffalo Chamber Vacuum Packing Machine  59  M10 Nuts 

GF439 - Buffalo Chamber Vacuum Packing Machine  61  Flat Washer 

GF439 - Buffalo Chamber Vacuum Packing Machine  62  M10 Screws 

GF439 - Buffalo Chamber Vacuum Packing Machine  N/A  Hose Piece 

 


